THIFEERXFEOIHIKR

485 (Bf:-[)
XHEABR | XHERS XA XHEE
48108 =& |[EXEMHBE #EEE0ERE (4/11) 6,000
a8t 6,000
585 (Bf:[)
XHAB | XHERS XA Z &%
XL
At 0
68 % (Bf:[)
XHEAH | XHER X 4 XHE5
68 1H = VT— AT -OvNOERAT—VREERE (6/2) 3,000
68128 Z0fth [2023FF/KEEIEERTFFARITERME (6/13) 5,000
68218 = XERAIREMRE -BEBHRRE(6/27) 5,000
64288 B [MEEK(ERERSE) 2,200
68288 B (HEFREK(HERERE) 10,000
68298 FE |BEKBRERSE) 1,760
=X 26,960
187 (Bfer: )
XHEABR | XHERS XA X HEE
7848 28 [BEEXETHEBEFEVEBHRERE(7/8) 6,000
78108 28 |RETBEBILESEESBEISE (7/18) 3,000
78128 B |[FEL(MHREARSE) 1,760
=L 10,760
8A % (Bfz-[)
AR | XHERS XA X%
8H2H 28 |[ENEREREFIEEREHFIERE(8/6) 6,000
=1 6,000
9F 4 (Bf:[)
XHEAB | XHEERS X &R X HEE
XL
&t 0
108 & (Bf:[)
XHAB | XHERS XA Zie%E
108238 B [MEEK(HBERE) 2,200
10H30H FRE KREER(MBRERSE) 2,200
=111 18,500
1A% (B[
XHEAH | XHER X4 X5
11A1H C2)3 HER (MBERSE) 1,760
11H8H S8 | TIRETHMAEESHOSSE (11/10) 5,000
118248 S8 ([ZRTHEBEELOBHKEE(11.725) 6,000
=1 12,760
1285 (Bf:[)
XHAB | XERS XA Z &%
XL
At 0
1A% (Bf:[)
XHEAH | XHER X 4 XHE5
1848 B |HEFHEK(MERERSE) 10,000
1848 B |[FEL(MHREARSE) 1,320
1H26H 28 |EEBISETPEERAXRBEEN/31) 3,000
= 14,320
285 (Bf:[)
XHAB | XERS XA Z &%
XL
= 0
AR (Bf:[)
XHEAH | XHER XA Z e
38218 = EETRBEHESRERVERERE (3/26) 4,000
3A26H B [MEEK(HBERE) 2,200
3R278 H BER (HTHRERE) 1,760
=5 7,960
REt 103,260




